
Perimeters of Shapes

A square’s perimeter can be found by multiplying the side length by four.

1

6 cm

perimeter = 6 cm × 4

=

2

4 cm

perimeter = ×

=

A rectangle’s perimeter can be found by adding together the length of 

one long side and one short side, and multiplying the result by two.

3

4 cm

6 cm

perimeter = ( 6 cm + 4 cm ) × 2

= × 2

=

4

8 cm

perimeter = ( + ) ×

= ×

=

6 cm
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Perimeters of Shapes Answers

A square’s perimeter can be found by multiplying the side length by four.

1

6 cm

perimeter = 6 cm × 4

= 24 cm

2

4 cm

perimeter = 4 cm × 4

= 16 cm

A rectangle’s perimeter can be found by adding together the length of 

one long side and one short side, and multiplying the result by two.

3

4 cm

6 cm

perimeter = ( 6 cm + 4 cm ) × 2

= 10 cm × 2

= 20 cm

4

8 cm

perimeter = ( 6 cm + 8 cm ) × 2

= 14 cm × 2

= 28 cm

6 cm
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